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énoncé

Soit #»u , #»v , #»w, #»r et
#»

t des vecteurs non nuls.

Compléter.

1 ( #»u , #»v ) + ( #»v , #»w) = ...

2 (..., #»w) +
(

...,
#»

t
)

=
(

#»v ,
#»

t
)

3
(

#»

t , #»w
)

+
(

...,
#»

t
)

= ( #»v , #»w)
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correction

1 ( #»u , #»v ) + ( #»v , #»w) = ...
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correction

1 ( #»u , #»v ) + ( #»v , #»w) = ...

( #»u, #»v ) + ( #»v , #»w) = ( #»u, #»w) d’après la relation de Chasles
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correction

2 (..., #»w) +
(

...,
#»

t
)

=
(

#»v ,
#»

t
)
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correction

2 (..., #»w) +
(

...,
#»

t
)

=
(

#»v ,
#»

t
)

( #»v , #»w) +
(

#»w,
#»

t
)

=
(

#»v ,
#»

t
)

d’après la relation de Chasles

SésamathMaths 1S activités mentales 7 page 203



correction

3
(

#»

t , #»w
)

+
(

...,
#»

t
)

= ( #»v , #»w)
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correction

3
(

#»

t , #»w
)

+
(

...,
#»

t
)

= ( #»v , #»w)
(

#»

t , #»w
)

+
(

...,
#»

t
)

= ( #»v , #»w) ⇔
(

...,
#»

t
)

+
(

#»

t , #»w
)

= ( #»v , #»w)
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correction

3
(

#»

t , #»w
)

+
(

...,
#»

t
)

= ( #»v , #»w)
(

#»

t , #»w
)

+
(

...,
#»

t
)

= ( #»v , #»w) ⇔
(

...,
#»

t
)

+
(

#»

t , #»w
)

= ( #»v , #»w)
(

#»
v ,

#»

t
)

+
(

#»

t ,
#»
w
)

= ( #»
v ,

#»
w)
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